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Using SAP HANA as modeling focus, you want to combine data from different sources. Which techniques
can you use? Note: There are 2 correct answers to this question.

A. BAPIs (Business Application Programming Inetrface)
B. Calculation views

C. AMDPs (ABAP Manged Database Procedures)

D. Stored procedures

Answer: B, D

In an SAP HANA smart data integration flowgraph, which transformation options are available? Note:
There are 3 correct answers to this question.

A. Split datasets

B. Call an ABAP function module

C. Execute a stored procedure

D. Execute an SAP HANA analysis process
E. Combine datasets

Answer: A,C, E

Which development object needs to be built to generate an HDI Container?

A. Package

B. HDB module

C. SQL script procedure
D. Space

Answer: B
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Which of the following are posible delta-specific field for a generic DataSource in SAP ERP? Note: There
are 3 correct answers to this question.

A. Record mode

B. Calendar day

C. Request ID

D. Time stamp

E. Numeric pointer

Answer:B,D, E

You defined a condition in a BW query for the top 10 of 100 customers based on sales revenue (key
figure of aggregation type Sum) If you keep the default settings of the BW query, what is presented
regarding the result rows?

A. Only one result row with the sales revenue sum of all 100 customers

B. Only one result row with the sales revenue sum of the top 10 customers

C. One result row with the saled revenue sum of the top 10 customers and a second result row with the
sales revenue sum of the other 90 customers

D. One result row with the saled revenue sum of the top 10 customers and a second result row with the
sales revenue sum of the other 100 customers

Answer: A
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